BERFREFT A 2018 4R ~ 7 a R (O R R

1. BEATA NE 25 p.15-17 DFHERHE
Answer:

o % H GDP : (REDMiFE) x (FIEDEE) DFI
— 2010 4F : 46,200 F4 = 30 x 900 + 100 x 192
— 2011 4F : 51,400 4 = 31 x 1000 + 102 x 200
— 2012 4 : 54,100 [ = 32 x 1050 + 100 x 205

o S GDP : (FEYEEDAMIE) x (BFEDEE) DRI
— 2010 4 : 46,200 [ = 30 x 900 + 100 x 192
— 2011 4 : 50,000 9 = 30 x 1000 + 100 x 200
— 2012 4 : 52,000 4 = 30 x 1050 + 100 x 205

e GDP 77 L —& : (#4H GDP)/(52E GDP)x 100
— 2010 4% : 100, 2011 4 : 102.8, 2012 4 : 104.0
o TV LK.

(5D GDP 77 L —X&) — (Al GDP 77 L — &)

’ 1
(Fi#D GDP 7 7 L — &) * 100

— 2010-2011 4 : 2.8%
— 2011-2012 4F : 1.2% = (104.0-102.8)/102.8 x 100

2. WMEAT A N 23 p.30 DFHARME :
Answer:

o Ny Mififg : 2010 4E : 35,000 F4. 2011 4F : 37,000 . 2012 4 : 40,000 9
e CPI: 20104 100. 2011 4F 105.7. 2012 4 114.3
o 1V T7LHE : 2010-2011 4 5.7% . 2011-2012 4 8.1%

3. WMEAT A N 23 p.38 DEMAME :
Answer:

(1) L=E+U =1426
(2) NL=N—L="1709
(3) U/L x 100 = 6%



